gg

!V//////////////%//////

S AN /////////////
S SR NN
AN iy
Iy
N Ry
II//%///////////////// )
S SN\
FH——\\Y

I\

II/////////////////////////////////////////////////////////////#
- I/////////////////////////////%///////////////////////////////ﬂ
I A i iy
/////////////////////////g/////////////////////////////////

//////l
////

NN

T T

P

el
(ga o WM

N
///////////////é///////////

AN s

AT h i

AR -_-.-_.

AT m e

/////g///////////

//////////////////

AN

| SN\
,,I///////

,,I////////////////////////A.
| SR NN P NN
//////////////////////A

A ) b t:Xht'n- )N TR
S ) tt::HR 1 Y

S\  h:hit:h: i A Y

s

é

/////////////////////4
///////////////////

¥ 1 5 f'/ﬂ‘%’/ﬂ/’/ff'ff'f'ff'ff'ff'ff'ff'ff!N\\\\\\\\\\\ =y —rT—r,OaO,,O
i
I////////////////////é
/

ARlhnnng
V/V//V//V.;.;.;%V

N

/
é
é
é
.
.
/
/
.
.
/
/
.
/
.
¢
Aé

A T =y

1 Y

AN I e

AN I Y

Ay

AN MIMHIHNTIHIHIHINHTThaaa

D

//////////////////////////////I

AN .. 1

//////////////////////////v

[
[
1
4
4
4
[
E
[
4
[
£
4

RN

B NAAAAAAARAARARAAARRARARAANNNNNNNY

—_S
///
///////////ﬂ
///////////////////////////////////1
—mmiit l
%//////////////////////////////////ﬂ
%/////////////////////////////////ﬂ

/////1
N

NN

g/////////////////////////////////ﬂ

///////////”
Ny
///////////l

//////////////////////g/////////////////////////éﬂ
A R Y
O e O R e
////////////////////////////////////////////////////l
/////////////////////////////////////////////////l
////////////g//////////////////////////////”

N

I

///////////

g//////////////////g/
/

ééééf/l

.
I /////
S /5\\\\\\\\\&.////
Il///////////
| S S NN\
| S B NN
,II/////// =
,,I,,I////////////////
,,I,,I//////////////////////////
ANl lnmnlany p’ﬁ?ﬂﬂﬂ”ff?&?};};;ﬁ
,,I,,,I/////////////////////é f Whﬂfﬂff!ff!ff!fﬂﬂﬂﬂﬂfﬂ}}i}i}
| AN /nuﬂﬂnuﬂnﬂuwnﬂﬁr//
I M
I AN

21.00
vl

Eksisterende terreng
er vist pa ende av rekke

—
Tp) 2 | T
O ~ 4
L 2O 2058 ¥ i
<C | | Y VggE, 25
RENG)] : S| e
G 2 2 n =2 <Rt 58
5 N\ w LY <g o 8
Q E1 z6
Mol X o9
n Z ¢ o W, ga
Wz x| o LS5 &lzz
o 3 w 3| Y 2 o
— o 5 OolLe
O 4 R . ® 5. x gh
> = ~ > @ pgj o
0 5 HEH
£33 Y
Ll . N2 2 Xs1gis
w = S 9 BTy
o N . — =X 22 <9
V m —J niss gz
- | w
s Z || = O 8s 5t
Z > 0 <2453
9] — . 8% oY
zZ - = o W0
s 0| D LZe-5iy
<
S = o 0§ Q:i3:
u 1 L Z =2 O::q &
¥ S5 03 >3 gz
— S0 ¥ z0: ¢
= T I @ _._D._MG i R|A
z o w 5 3 8 8
W E> S5z 9 22
X = D5 G =
: h w H_|_ <| O w @
[ <€ W ¥ F =




